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Sophia Thomas

Mid-Term Exam Overview
OO O®EOEEOE® O ® b
This Question: 5 pt= This Test: 150 pts Time Limit: 03:30:00 00f30 complate ()
‘The table shows the demand and supply schedules for on-campus housing.
Quantity Quantity
If the college puts 2 rent ceiling on rooms of $350 2 month, rent is §[_| and the number of rooms rented Rent __demanded supplied
. (dollrs per month) (rooms)
is
250 7,500 6.750
The on-campus housing market is 25 6.750 6.750
300 6.000 6.750
L 325 5250 6.750
nefficient 350 4500 6750
efficient 375 3750 6.750
Enter your answer in each of the answer boxes. @

Previous Question | (_Next Question (submirest
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Sophia Thomas

Mid-Term Exam

OO O®EOEO® O ® bip|

This Question: 5 pts This Test: 130 pts Time Limit:  03:30:00 00f30 complate ()

Overview

‘The graph shows the calories in various deserts: Desserts

Bar#l 1 cup chocolate ice cream l
Bar#2 1 slice chocolate cake

Bar#3 2 oz candy bar with peanuts

Bar #4 1 cup hot cocoa with whole milk

Bar #5 1 cup hot cocoa with skim milk

Bar #6 2 tablespoons chocolate syrup

Which chocolate dessert has the lowest caloric content?

OA 22 oz candy bar with peanuts

OE. 1 cup chocolate ice cream

Oc. 2 tablespoons chocolate syrup G 2o 1bo 150 2b0 250 360 350 4bo 420 sb sko b0
Caories
OD. 1slice chocolate cake

Click to select your answer.

Previous Question | (_Next Question (submirest
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Sophia Thomas

Mid-Term Exam Overview
OO O®EOEEOE O ® bIp|
This Question: 5 pt= This Test: 150 pts Time. 03:30:00 00f30 complate ()

The price elasticity of demand for scented candles is 1.5.
The price elasticity of demand for tapered candles is 2.0

‘The cross elasticity of demand for tapered candles with respect to the price of a scented candle is 1.5

If the price of a scented candle rises by 4 percent, the percentage change in the quantity demanded of scented candles i a deerease of [ ] percent

If the price of 2 scented candle rises by 4 percent, the percentage change in the quanity demanded of tapered candles is an inerease of [ ] percent

Enter your answer in each of the answer boxes. @

Previous Question | (_Next Question (submirest
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Sophia Thomas

Mid-Term Exam

OO O®EEOEE® b

Overview

This Question: 5 pt= This Test: 150 pts Time. 03:30:00 00f30 complate ()
‘The figure shows the U.S. market for flip~ flops. With international trade, the equiibrinm price in the Price (dollas per ip-fops)
United States is and the United States fip— flops.

Oa $12; imports.
OB. $12; exports.
Oc. $12; exports.
OD. $14; imports
OFE. $14; does not trade

0 "ioo 300 500 700 900 1,100 1300
Quantity (thousands of ip-fops)

Click to select your answer. @

Previous Question | (_Next Question (submirest
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Sophia Thomas

Mid-Term Exam

Overview
dOOOOEOEOE®E® DM
This Question: 5 pt= This Test: 150 pts Time Limit: 03:30:00 00f30 complete E
The table shows an economy that produces education services and consumption goods.
. ) Education  Consumption
Ifthe economy curenty produces 1,000 eraduates and 1,000 uits of consumpton goods, the Services ‘goods
opportusity cost of one addiional graduate is (graduates) {unts)
] A 2,000 0
o] B 1500 500
s of consumption goods ¢ 1.000 1000
D 0 1,500
sraduates
Enter your answer in the answer box. @

Previous Question | (_Next Question (submirest
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Sophia Thomas

Mid-Term Exam Overview
DOOO®EOEEOE®E® b
This Question: 5 pt= This Test: 150 pts Time Limit: 03:30:00 00f30 complate ()
‘The graph shows the supply curve of sleeping bags and the market price of 2 sleeping bag. 12000, P (d0tars per iceping bag)
Draw a point to shov the minimum supply price of the s
90th sleeping bag. Label it 1. 10000 Market
price
Draw a point to shov the marginal cost of the 30th
sleeping bag. Label it 2. 000
Draw an arrow to show the producer surplus on the 30th sleeping bag. oo
w000
‘The producer surplus on the 30th sleeping bag s §|
2000
000
} W @ % i
Quantiy (slesping bags per day)
>>> Draw only the objects specified in the question
Click the graph to plot your point. @

(Previous Question | (_extuestion (swmitTest
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Mid-Term Exam

w| =

Sophia Thomas

OO O®EEOE® O ® b

Overview

This Question: 3 pts This Test: 130 pt=
Annie, Kathleen, and Elizabeth are the only sellers of lasagnas in 2n isolated village.
‘The table shows the quantity of lasagnas that they supply at various prices.

‘When the price of a lasagna is $13.00, how many lasagnas are supplied in the market in 2 week?

‘When the price of a lasagna is $13.00, the quantity of lasagnas supplied in the market in 2 week is

Enter your answer in the answer box.

Time Limit: 03130100

00f30 complate ()

Quantity supplied

Price (lasagnas per week)
(dolars per
lasagna) Kathleen beth
10.00 400 300 200
11.00 550 400 250
12.00 700 500 300
13.00 850 600 350

Previous Question | (_Next Question (submirest
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Sophia Thomas

Mid-Term Exam Overview
This Question: 5 pt= This Test: 150 pts Time Limit: 03:30:00 00f30 complate ()
‘The table shows the demand schedules for candy for Josie and Tim (the only buyers in the marke?). e PicE (001rS per3g)

00
Quantity demanded oo
price (bags per month) 700
(dollars perbag) __Josie Tim 550
150 6 9 500
<50
450 4 6 b
750 2 3 P
400
Use the data in the table to drayw three points on the market demand curve. 350
200
Draw the market demand curve through the points 250
Label it 200
150
1.00
050
000

0% & & 5 M0 1214 15 1 2

Quany (vags per montn)
>>> Draw only the objects specified in the question
Click the graph to plot your point. @

Previous Question | (_Next Question (submirest
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Sophia Thomas

Mid-Term Exam Overview

OO OO O ® b

This Question: 5 pts This Test: 130 pts Time Limit:  03:30:00 00f30 complate ()

Price (dollars per gallon)

Consumers eating higher food costs -
The price of milk ose about 21% from July 2006 to July 2007, while the price of frozen orange juice

increased 31%. At the same time, with higher gasoline prices, the demand for cthanol increased

Because cthanol is made from corn, the price of corn rose, which in tum increased the price of bread, 250
chicken, cheese, and the fast-foods that use cheese. As people in China and India become richer, they

are eating more beef and chicken and less rice and tofu—another source of higher food prices in the
United States.

300

Source: US4 TODAY, September 6,2007

Draw a curve to show the effect of the higher price of corn on the market for milk. Label it

Draw a point at the niew equiibrium price and equiibrium quantity. 20

150

10 110 120 130 10 1% 160 170 180
Hilk (thousands of galions per day)

>>> Draw only the objects specified in the question

Previous Question | (_Next Question (submirest

Click the graph to plot the first point on your line.
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Sophia Thomas

Mid-Term Exam

OO OO O ® b

This Question: 5 pts This Test: 130 pts Time Limit:  03:30:00 00f30 complate ()

Overview

The table shows part of Crusoe's production possibies.

Opportunity
Fish Ber given cost
(pounds) (pounds) Move, up of berries
0 X0 from __(pounds) __(pounds) _(pounds of ish)
6 36

c 1 30

BtoA

CtoB

Use the table to il n the columns on the right and calculate Crusoe's opportunity cost of a pound of
berries 2 he spends more time picking berries.

>>> Answer to 2 decimal places.

If Crusoe produces efficiently, his opportunity cost of 2 pound of berries. ] as he spends more.
time picking berries.

decreases

increases

Enter your answer in each of the answer boxes. @

Previous Question | (_Next Question (submirest





